2004 CSAP Released Items

Grade 5 Mathematics



Mathematics

1 During the summer, Henry earns $5 per hour babysitting and $4 per hour mowing
lawns.

Part A Henry babysat a total of 48 hours. How much money did he earn babysitting?
In the space below, show your work and write your answer on the line.

Part B Including the 48 hours of babysitting, Henry earned a total of $308 by the end
of summer. How many hours did he spend mowing lawns? In the space below, show
your work and write your answer on the line.

hours
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CSAP Mathematics Scoring Guide

Item 1:
Rubric

Exemplary Response

Part A

*  $240

AND

* 48 hours X $5 = 240

Part B

* 17 hours

AND

* $308 — 240 =68
68 ~ $4 =17
OR

* Other valid process

Score Points: Apply 2-point holistic rubric.
This item appeared at only one grade level.

Grade 5
Standard 6.2c: Operations and Calculations
Subcontent Area: not classified
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¢ During the summer, Henry earns $5 per hour babysitting and $4 per hour mowing
R lawns.

Part A Henry babysat a total of 48 hours. How much money did he earn babysitting?
In the space below, show your work and write your answer on the line.

‘43
Vv

;240

o)

Part B Including the 48 hours of babysitting, Henry earned a total of $308 by the end
‘of summer. How many hours did he spend mowing lawns? In the space below, show
your work and write your answer on the line.

302 ‘ — & To
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\—, """ hours "-—%1

2 Point Anchor | ‘_ | ’v j’é\/j

Part A: Correct Process and Answer.
Part B: Correct Process and Answer.
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During the summer, Henry earns $5 per hour babysitting and $4 per hour mowing
lawns. ‘

Part A Henry babysat a total of 48 hours. How much money did he earn babysitting?
In the space below, show your work and write your answer on the line.

Tz |
X & | o

Part B Including the 48 hours of babysitting, Henry earned a total of $308 by the end

of summer. How many hours did he spend mowing lawns? In the space below, show
your work and write your answer on the line.

4303
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2

77 %o

— hours

1 Point Anchor

i | Part A: Correct Process and Answer. |
- - Part B: Incorrect Process and Answer. . ® '
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~ During the summer, Henry edrns $5 per hour babysitting and $4 per hour mowing
" lawns.

Part A Henry babysat a total of 48 hours. How much money did he earn babysitting?
In the space below, show your work and write your answer on the line.

Part B Including the 48 hours of babysitting, Henty earned a total of $308 by the end
“ of summer. How many hours did he spend mowing lawns? In the space below, show
‘your work and write your answer on the line.
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—;:M-QL_ hours

0 Point Anchor

Part A: Incorrect Process and Answer.
Part B: Incorrect Process and Answer.
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2004 CSAP Released Items

Grade 5 Mathematics

(This Item is also shared at Grade 6)



Mathematics

2  The table below shows the amounts of money Vince receives for selling bunches of

flowers at the farmers’ market.

Flower Sales

Number of Bunches 20

25

30

35

Amounts of Money $120

$150

$180

Part A Complete the table to show the amount of money Vince receives for selling

35 bunches of flowers.

Part B On the lines below, explain the rule used in the pattern.

Part C Vince pays $45 each day for a place at the farmers’ market. One day, he sold
8 bunches of flowers. Did Vince receive enough money to pay for his place that day?

In the space below, show your work and explain your reasoning, and write your answer

on the line.

Did Vince receive enough money?

© Colorado Department of Education
Page may be reproduced electronically.

Page 3



CSAP Mathematics Scoring Guide

Item 2:
Rubric
Exemplary Response

Part A

Flower Sales

Number of Bunches

20

25

30

35

Amounts of Money

$120

$150

$180

$210

Part B

* The money that was made increases by $30 with every 5 bunches of flowers sold.

OR

*  Multiply each number of bunches of flowers by 6 to get the money made.

OR
¢ Other valid explanation

Part C

* Did Vince receive enough money? Yes

* Vince did make enough money to pay for his place. He makes $6 for each bunch, so if he sold 8
bunches, he made $6 X 8 = $48. If his place is $45, Vince had enough plus a little extra.

OR

¢ Other valid explanation

Page 4

© Colorado Department of Education
Page may be reproduced electronically.




CSAP Mathematics Scoring Guide

Score Points: Apply 3-point holistic rubric.
This item appeared at two adjacent grade levels.

Grade 5
Standard 2.5a: Patterns, Functions, and Algebra
Subcontent Area: patterns

Grade 6
Standard 2.5a: Patterns, Functions, and Algebra
Subcontent Area: patterns

Page 5
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3 Pts.

. The table below shows the amounts of money Vince receives for selling bunches of

flowers at the farmers’ market.

Flower Sales

335
Number of Bunches 20 25 30 35 { §

Amounts of Money | $120 | $150 | $180 | &AlO

Part A Complete the table to show the amount of money Vince receives for selling
35 bunches of flowers.

Part B On the lines below, explain the rule used in the pattern.

Toe fde used in Yoe ondera 4o
mu\’r\p\ix) YR nolger o6 \qondnes \OL\A,
L ond LoV %e}r YR QW\QU‘\\\V ol e,

Part C Vince pays $45 each day for a place at the farmers’ market. One day, he sold:
8 bunches of flowers. Did Vince receive enough money to pay for his place that day?

In the space below, show your work and explain your reasoning, and write your answer
on the line.

X

% ugy kb
- 4B

Did Vince receive enough money? kz\_gg
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2 Pts.

The table below shows the amounts of money Vince receives for selling bunches of

flowers at the farmers’ market.

Flower Sales

Number of Bunches | 20 25 30 35

Amounts of Money $120 | $150 | $180 ®’3\\0

Part A Complete the table to show the amount of money Vince receives for selling
35 bunches of flowers.

Part B On the lines below, explain the rule used in the pattern.

ﬂy:,_mﬁ&_mm A, eole s ian Yoe

ompats, o€ anole) wint up l,m) 130,
Part C Vince pays $45 eéch day for a place at the farmers’ market. One day, he sold
8 bunches of flowers. Did Vince receive enough money to pay for his place that day?

In the space below, show your work and explain your reasoning, and write your answer
on the line.

Did Vince receive enough money? Nb
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= 'The table below shows the amounts of money Vince receives for selling bunches of

%A
*  flowers at the farmers’ market.

Flower Sales

Number of Bunches 20 25 30 35

Amounts of Money $120 $150 $180 ﬁlﬂ_ '

Part A Complete the table to show the amount of money Vince receives for selling
35 bunches of flowers.

Part B On the lines below, explain the rule used in the pattern.

Part C Vince pays $45 each day for a place at the farmers’ market. One day, he sold
8 bunches of flowers. Did Vince receive enough money to pay for his place that day?

In the space below, show your work and explain your reasoning, and write your answer
on the line. '

Did Vince receive enough money? m/
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31 The table below shows the amounts of money Vince receives for selling bunches of

0 Pts.

flowets at the farmers’ market.

Flower Sales

Number of Bunches 20 25 30 35

Amounts of Money $120 | $150 | $180 \\\

Part A Complete the table to show the amount of money Vince receives for selling

- 35 bunches of flowets.

Part B On the lines below, explain the rule used in the pattern.
tha e ' 0dd R Yo
VE'Q OO0,

Part C Vince pays $45 each day for a place at the farmers’ market. One day, he sold
8 bunches of flowers. Did Vince receive enough money to pay for his place that day?

-In the space below, show your work and explain your reasoning, and write your answer

on the line.

{1
Py BQ.C.Q\DQ.,
L he. LOWNG
\\O\\)Q— 127

Did Vince receive eno ugh money? _A’ cs _
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2004 CSAP Released Items

Grade 6 Mathematics



Mathematics

3 The table below shows the number of visitors to Bent’s Fort from March
through September.

Visitors to Bent’s Fort

Month Mar. | Apr. | May | Jun. Jul. | Aug. | Sep.

Number of Visitors

17 )2 b 4) )1 b 2,4
(rounded to nearest hundred) 600 13,200 1 4,100 3001 6,100 13,300 00

Part A On the grid below, construct a bar graph to show the information from
the table.

Page 6
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Use information from the graph on page 6 to answer the following questions.

Part B According to the months shown, what were the three most popular months
to visit Bent’s Fort?

1)

2)

3)

Part C 'Which month had the greatest change in the number of visitors compared to
the previous month?

Part D On the lines below, describe the month-to-month change in the number of
visitors from March through September.

Page 7
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CSAP Mathematics Scoring Guide

Item 3:
Rubric
Exemplary Response
Part A
. Visitors to Bent's Fort
7000
6000
$
32| s000
9
<
(188
)
5 4000
Y
£
3
Zz 3000
2000
1000
MAR APR MAY JUN JUL AUG SEP
Time (in months)
Part B
* 1) May
2) June
3) July
Part C
*  August
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CSAP Mathematics Scoring Guide

Part D

* The number of visitors increased each month from March through July, decreased sharply in August,
and continued to fall in September.

OR

*  Other valid statement

Score Points: Apply 4-point holistic rubric.
This item appeared at only one grade level.

Grade 6

Standard 3.1a: Data Analysis, Probability, and Statistics
Subcontent Area: not classified

Rater Severity Study 2004
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‘The teble bel;aw shaws the number of visitors to Bent’s Fort from March

through September. »
Visitors to Bent’s Fort

Mar. | Apr May { Jun. Julk Aug. | Sep.

1600 | 3200 | 4,100 | 4,300 | 6100 | 3,300 | 2,400

Part A On the grid below, construct a bar graph to show the information from

VigHos 4o Berls T} ~

the table.

N‘a; DQuwie iy A sq,}w
WMon H\ g

Use information from the graph to answer the questions on page 31
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Part B According to the months shown, what were the three most popular months
to visit Bent’s Fort?

2) Junt

3) J,&\v

Part C Which month had the greatest change in the number of visitors compared to
the previous month?

Part D On the lines below, describe the month-to-month chenge in the number of
visitors from March through September. : '

1«_\ng Sarded real loe ot 16 Oo stople +hed
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The td)lé below shows the number of visitors to Bent's Fort from March
through September. ‘

Visitors to Bent’s Fort

Mar, | Apt. May Jun, | Jul Aug. Sep.
1,600 | 3,200 | 4,100 | 4,300 | 6100 | 3,300 | 2,400

Past A On the grid below, construct a bar graph to show the information from

-the table.

Nisitors-Ye Re V'S Yok

£ w
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Mont*

Use information from the graph to answer the questions on page 31.
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Part B According to the months shown, what were the three most popular months
to visit Bent’s Fort?

0. oy
2) N&\\

3 _SA\ANQ

Part C Which month had the greatest change in the number of visitors compa:ed to
the previous month?

A\

Part D On the lines belaw, desctibe the month-to-month chenge in the number of

' visitors from March through September.

AN EM\& e,\cc\ebw, gﬁnL_;ﬁ&na_ﬂ__

Wwefe W00 vy od i e, 300.

ore Yo 2,100,
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“The teble below shows the number of visitors to Bent’s Fort from March
through September.

Visitors to Bent’s Fort
Apr. | May | Jun. Jul Aug. | Sep.
3200 | 4,000 | 4,300 | 6,100 | 3300 | 2,400

Part A On the grid below, construct a bar graph to show the mﬁormauon from

the table,
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Part B Accordmg to 1he months shown, what were the three most populat months
to visit Bent'’s Fort?

, Jul b
2 JUNE
N\ml/

Part C Which month had the greatest change in the number of visitors compared to
the previous month? .

Jul\/

" Pan D Onthe lines below, describe the month-to-month change in the number of
visltors from March through Septen‘

_becaust i< WalM ¢ r

nthe < mmer.

2 7(2;4;,15 et
Y il
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The table below shows the number of visitors to Bent’s Fort from March
* through Septembet. :

Visitors to Bent’s Fort

Apr. | May | Jun. | il Aug_. Sep.

3,200 | 4,200 | 4,300 | 6,100 | 3,300 | 2,400

Part A On the grid below, construct a bar graph to show the information from
the-table. ’

wo° -

A ey B

" AAT N o] Mo 1o, A {gil
noT 2

4

Use information from the graph to answer the questions on page 31.
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Part B According to the months shown, what were the three most popular months v
to visit Bent’s Fort?

0

- A

S
b

e ——

- Part C Which month had the greatest change in the number of visitors compared to
the previcus month?

15

__ Part D On the lines below, describe the month-to-month change in the number of

visitors from March through September.

T +nl<m“ s[5,
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The table below shows the number of vxsuors to Bent’s Fort from March
through September

Visitors to Benf’s Fort

Apr. | May | Jun. Jul Aug.‘ Sep.

| 3200 | 4,100 | 4,300 | 6100 | 3,300

Part 4 Omnthe gné below, consimc\ = bar graph ‘o thow the nformation from
the table. ,

June
7

o 7@:}.{“ Lt e

Or. Hetlesis,
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Part B According 10 the months shown, what were the three most popular months
to visit Bent's Fortt :

1

3)

_Part C Which month had the greatest change in the number of visitors compared to
- the previous month?

Ty

Part D On the lines below, describe the month-to-month change in thc number of
visitors from March through September.

6-M-0405A



2004 CSAP Released Items

Grade 7 Mathematics

(This Item is also shared at Grade 8)



Mathematics

4 The Denver Broncos played 16 games in the 1999 regular season. The table below shows the
total points scored by the Broncos for each game.

Denver Broncos
Points Scored in 1999 Season

Game 1 2 3 4 5 6 7 8 9 10 ) 11 | 12 | 13 | 14 | 15 | 16

Points | 36 | 42 [ 33 [ 22 [ 19 | 21 | 44 | 21 | 30 | 27 | 38 | 38 | 38 | 31 7 38

The mean of the points scored by the Broncos in 1999 is 30 points (rounded to the nearest
whole number).

Part A Find the median of the points scored per game in the 1999 season. In the space
below, show your work and write your answer on the line.

Median of points

Page 10 © Colorado Department of Education
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Part B Find the mode of points scored per game in the 1999 season. In the space below,
show your work and write your answer on the line.

Mode of points

Part C Find the range of points scored in the 1999 season. In the space below, show your
work and write your answer on the line.

Range of points

Part D Carmen is writing an article about the Broncos for the school newspaper. She will
use one measure of central tendency from the 1999 season to describe as accurately as possible
the Broncos’ ability to score points. On the lines below, write the measure of central tendency
(mean, median, or mode) she should use and explain your thinking.

© Colorado Department of Education Page 11
Page may be reproduced electronically.



CSAP Mathematics Scoring Guide

Item 4:
Rubric
Exemplary Response
Part A

+  Median of points 32
AND

+ The points scored arranged from lowest to highest are 7, 19, 21, 21, 22, 27, 30, 31, 33, 36, 38, 38, 38, 38,
42, 44 points and the middle two numbers are 31 and 33, and the mean of 31 and 33 is 32.

Part B

*  Mode of points 38
AND
+  The score 38 appears 4 times and is the most frequent score.

Part C

+  Range of points 37

OR
+  Range of points 7 to 44
AND

* The low score is 7 and the high score is 44, and the difference is 37.

Page 12
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CSAP Mathematics Scoring Guide

Part D

+ Carmen should use the median of points scored to most accurately describe the ability of the Broncos
to score points. The mean includes an uncharacteristic low score of 7 points. The mode of 38 is too
high a score to be an accurate description.

OR

¢  Other valid response

Score Points: Apply 3-point holistic rubric.
This item appeared at two adjacent grade levels.

Grade 7
Standard 3.2a: Data Analysis, Probability, and Statistics
Subcontent Area: not classified

Grade 8
Standard 3.2a: Data Analysis, Probability, and Statistics
Subcontent Area: not classified

Page 13
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The Denver Broncos played 16 games in the 1999 regular season. Study the table below, which
shows the total points scored by the Broncos for each game.

Item 35

Denver Broncos
Points Scored in 1999 Season

1 2 3 4 5 6 7 8 9 101112113} 147]15] 16

3 9 21 0 8 1 7
Vi plalerp A AR 2
‘The mean of the points scored by the Broncos in 1999 is 30 points (rounded to the nearest

whole number).

Part A Find the median of the points scored per game in the 1999 season. In the space
below, show your work and write your answer on the line.

mechan = wiolef fp
¥, 19, 21,2 l)—zz)’z’\')'so)% 1/ 33,300,779 33,38,
39, $2,44

-

Z’y
ut

1
Median of points 12_9.0_&.&:&

Part B Find the mode of points scored per game in the 1999 season. In the space below,
show your work and write your answer on the line.

mocle = FF Mosy oSden
Lo l‘l) 2\,2\,22,2%- 30, 2| )37/1,.(@@12,49

2L F Imeg

Mode of points Jﬂ-&&&rs

3 ANCHOR 8M-0301



Part C  Find the range of points scored in the 1999 season. In the space below, show your
work and write your answer on the line.

Q\mef; Wigwe s S — Jowe sv Q\'S
ngher= A lwesh=TF

44

B

Range of points 3 ’)—- ?té

Part D Carmen is writing an article about the Broncos in the school newspaper. She will use
one measure of central tendency from the 1999 season to describe as accurately as possible
the Broncos’ ability to score points. On the lines below, write the measure of central tendency
(mean, median, or mode) she should use and explain your thinking.

) hodd wse W b Toake \ A
\eaw e suwver ¥ pafths Jhe PeanceS sco®@

. Ne . Y4 _l_
A e h.‘a'h ol Yees oo anof micil\l oo
oS Wer ane wer

CSAP 2004 Rib 1- ltem 35
Denver Broncos Scoring Analysis - 1999

3 Point Anchor

The student effectively communicates a mathematical
understanding of the task by showing a correct
median, mode and range of points with support. In
part D, the student selects mode and provides support
for their selection.

3 ANCHOR 8M-0301a



‘The Denver Broncos played 16 games in the 1999 regular season. Study the table below, which
[tem 35  shows the total points scored by the Broncos for each game.

Denver Broncos
Points Scored in 1999 Season

2 3 4 5 6 7 8 9 1o]11}12}113] 14|15 ] 16

42 |33 | 22 |49 | o0 | 44 | 21 | 30| 27 |38 | 38 38/51 7 138

-

‘The mean of the points scored by the Broncos in 1999 is 30 points (rounded to the nearest
whole number).

Part A Find the median of the points scored per game in the 1999 season. In the space
below, show your work and write your answer on the line.

1,19 ,91,8l.99,8"1,30,3\%5)3»3“"38393&38

’ /

L

gd

Median of points

Part B Find the mode of points scored per game in the 1999 season. In the space below,
show your work and write your answer on the line.

1, 19, 2\,28,93 o1 ,30,3,33,3,3%,38 28,38 40, ud

Mode of points 3 ?

2 ANCHOR 8M-0302



Part C Find the range of points scored in the 1999 season. In the space below, show your
work and write your answer on the line.

5%
—5

Range of points %q

Part D Carmen is writing an article about the Broncos in the school newspaper. She will use
one measure of central tendency from the 1999 season to describe as accurately as possible
the Broncos® ability 1o score points. On the lines below, write the measure of central tendency
(mean, median, or mode) she should use and explain your thinking.

b, @ \ A e
Aol o0 dhe mpda  \ecane Yhals
4o numbac Mol Neay Mﬁ&&u‘_%&;

CSAP 2004 Rib 1- Item 35
Denver Broncos Scoring Analysis - 1999

2 Point Anchor

The student shows some evidence of understanding
by completing part of the task when showing a correct
mode and range of points. The student shows lack of
understanding in computing the median. Student
selects and defines mode in part D.

2 ANCHOR 8M-0302a



The Denver Broncos played 16 garees in the 1999 regulir season. Stud 1% 2 fable Below, whi b

ltem 35

shows the tolal points scoted by the Broncos for ead. game.

Denver Broncos
Points Scored in 1999 Season

2 3 4 5 6

10

11

14

15

16

42 | 33 |.,22

14

21

27

38

38

31

38

The mean of the points scored by the Broncos in 1997 is 29 points (rounded to the nearcsi

whole number).

Part A Find the median of the points scored per game in the 1999 season. In the snac?

helow, show vour work and write your ancwer o the line

Median of points m——

Part B Find the mode of points scored per game in the 1999 season. In the space below,

show your work and write your answer on the line.

Mode of points _M

1 ANCHOR

8M-0303




Part C Find the range of points scored in the 1999 scason. In the space below, show your
work and write vou. answer on the line.

j)\qlg,tg\’?;’, 37 30,3),3%3 6, 39,35,38,38 ), Y3, {1t

Range of puints .,“" q'q'

SO

Part D Carn:en is writing an article about the 3runces i the school newspiper. She 2«
one measure of central tendency from the 1999 season to describe as accurately as possible
the Broncos® ability to score poinis. On the lines below, write the measure of central tendency
(mean, median, or mode) she should use and explain your thinking.

CSAP 2004 Rib 1- Item 35

Denver Broncos Scoring Analysis - 1999

1 Point Anchor

The student demonstrates some mathematical
understanding of the task by computing a correct range of
points. The student shows lack of understanding for
median and mode and does not attempt to address part D.

1 ANCHOR | 8M-0303a



Item 35 The Denver Broncos played 16 games in the 1999 regular season. Study the table below, whi-h
shows the total points scored by the Broncos for cach gamwe.

Denver Broncos
Points Scored in 1999 Season

2 3 4 3 6 7 8 9 10 | 11 12 | 13 | 14 | 15 16

42 | 33 | 22| 19 | 21 |.44 | 21 hﬁio 27 | 38 | 38, 38 | 31 7 38

y 2

. . . . )
The mean of the points scored by the Broncos in 1997 is 30 points (rounded to the nearest
whole number).

Part A Find the median of the points scored per gamne in the 1999 season. In the space
below, show your work and write your answer on the lina

= o0 Lskecesed

Median of points __LM__

Part B Find the mode of points scored per game in the 1999 season. In the space below,
show your work and write your answer on the line.

b
70

hag Y

Mode of points \i\

0 ANCHOR 8M-0304



Part C Find the range of points scored in the 1999 scason. In the space below, show your
work and write your answer on the line.

{
Range of points m {Z 1‘)3“ *5

Part D Carmen is writing an article about the Broncos in the school newspapcr. Shc wili use
one measure of central tendency from the 1999 season to describe as accurately as possible
the Broncos’ ability to score points. On the lines below, write the measure of central tendency
(mean, median, or mode) she should use and explain your thinking.

_Coorven ) <iond. -en e cpoflo Kt
Are Grorvef, AN, 2oin, o Orede ¢

< (8

< a

WYY, Lo ey Lgrior,

CSAP 2004 Rib 1- Item 35
Denver Broncos Scoring Analysis - 1999

0 Point Anchor

The student demonstrates no mathematical
understanding of the task by showing incorrect
values and processes for median, mode and
range of points. The student does not select a
measurement in part D.

0 ANCHOR 8M-135-0304a



2004 CSAP Released Items

Grade 8 Mathematics



Mathematics

5 Sam will mix together green, blue, and white paint. He mixes 5 pints of green paint and 7
pints of blue paint. He will make the mixture 25 percent white paint.

How many pints of white paint should Sam add to the mixture? In the space below, show
your work and write your answer on the line.

pints of white paint

Page 14 © Colorado Department of Education
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CSAP Mathematics Scoring Guide

Item 5:

Rubric

Exemplary Response

* 4 pints of white paint

AND

* The mixture before adding white contained 12 pints of paint. If 2 pints of white paint are added, the

percent of white paint is 14 = 14.3 percent, which is not 25 percent. If 3 pints of white paint are added,
the percent of white paint is 15 = 20 percent, which is not 25 percent. By adding 4 pints of white paint,

. . . . ... 4
the mixture total is 16 pints, and the percent of white paint is 16 = 25 percent.

OR

¢ Other valid response

Score Points: Apply 2-point holistic rubric.
This item appeared at only one grade level.

Grade 8
Standard 1.4a: Number Sense
Subcontent Area: proportional thinking

Page 15
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¥

Sam will mix together green, blue, and white paint. He mixes 5 pints of green paint and 7
pints of blue paint. He will make the mixture 25 percent white paint.

How many pints of white paint should Sam add to the mixture? In the space below, show
your work and write your answer on the line. ‘

15 lod v
™= X %r“w

15
\L': ‘Ll Y .

I
=2

L‘ pints of white paint

2 Point Anchor u‘
/ b

LH( 8M-1403




e
? .

Sam will mix together green,
pints of blue paint. He will

blue, and white paint. He mixes 5 pints of green paint and 7
make the mixture 25 percent white paint.

How many pints of white paint should Sam a

dd to the mixture? In the space below, show
your work and write your answer on the line.

3

pints of white paint

R

8M-1401

% % 4

g



Sam will mix together green, blue, and white paint. He mixes 5 pints of green paint and 7
pints of blue paint. He will make the mixture 25 percent white paint.

How many pints of white paint should Sam add to the mixture? In the space below, show
your work and write your answer on the line.

» D Dints . e
lzqgo) f).lp-.m s_%{i&m ?’6% o 4

5 e ot
fo D@ Wb

pints of white paint

5 Wf ///] @[{ 8M-1421



2004 CSAP Released Items

Grade 8 Mathematics



Mathematics

6 Carl has a stack of wood with the measurements shown below. He will cover the top
and all 4 sides of the stack with a plastic sheet.

T

ST o
| SO ——
(S) IS) IS) - E ) =
| OBy

+——— Length N 4 feet
8 feet

Part A What is the total surface area the plastic sheet must cover? In the space below, show
your work and write your answer on the line.

square feet

The diagram below represents a plastic sheet with unknown measurements.

Plastic Width
Sheet ? feet

f———— Length ——
? feet

Page 16
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Part B What are the dimensions of the smallest rectangular plastic sheet that can be used
to cover the stack of wood? In the space below, show your work and write your answers on
the lines.

Width Length

Part C Carl added more logs to his stack of wood, increasing the length of the stack by 2
feet and increasing the height of the stack by 3 feet. By how many square feet did the area of
the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line.

Increase square feet

Page 17
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CSAP Mathematics Scoring Guide

Item 6:
Rubric

Exemplary Response
Part A

* 128 square feet
AND

* Long sides = (8ft X 4ft) X 2 = 64 ft*
Top = 8ft X 4ft = 32 f©
Short sides = (4ft X 4ft) X 2 = 32 ft?
Surface area plastic sheet must cover = 64ft* + 32ft> + 32ft> = 128 ft?

OR
¢ Other valid response
Part B

*  Width 12 (feet) Length 16 (feet)

Page 18
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CSAP Mathematics Scoring Guide

Part C
* Increase 108 square feet

AND

* The new area is:
Long sides = (10ft X 7ft) X 2 = 140ft?
Top = 10ft X 4ft = 40ft?
Short sides = (4ft X 7ft) X 2 = 56ft?
Total (new) Area = 140ft> + 40ft> + 56ft> = 236ft?
Total Increase in Area = 236ft> — 128ft*> = 108ft>

OR

¢ Other valid response

Score Points: Apply 4-point holistic rubric.
This item appeared at only one grade level.

Grade 8
Standard 4.5a: Geometry and Spatial Sense
Subcontent Area: geometry

© Colorado Department of Education Page 19
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Sam will mix together green, blue, and white paint. He mixes 5 pints of green paint and 7
pints of blue paint. He will make the mixture 25 percent white paint.

How many pints of white paint should Sam add to the mixture? In the space below, show
your work and write your answer on the line.

» D Dints . e
lzqgo) f).lp-.m s_%{i&m ?’6% o 4

5 e ot
fo D@ Wb

pints of white paint

5 Wf ///] @[{ 8M-1421
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60
Carl has a stack of wood with the measurements shown below. He will cover the top
and all 4 sides of the stack with a plastic sheet.
Part A What is the total surface area the plastic sheet must cover? In the space below, show
your work and write your answer on the line.
’Zy‘go.m B xY= 2Pkt
2% Side Ux9g Yox2 = 326+
Top Bx4 32 T I2EC
| 29FF
\ 22 square feet
The diagram below represents a plastic sheet with unknown measurements.
Sheet ? feet
; 1
F————Length——
? feet
4 pt Anchor 4 / 8M-1001



60

4 pt Anchor

Part B, What are the dimensions of the smallest rectangular plastic sheet that can be used

to cover the stack of wood? In the space below, show your work and write your answers on
the lines.

width \&m« Length \ L9

Part C  Carl added more logs to his stack of wood, increasing the length of the stack by 2
feet and increasing the height of the stack by 3 feet. By how many square feet did the area of

the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line.

——

o —

\

E E "C* b}(?’-‘%

7'% ~ i F&‘*Bk . A

%,’. = \o-I 2 si Qx?g@*
2 o

Top =YHORE
2% 2= SloSa

Increase \ Q% square feet | )30

8M-100}

R L TR R [




60

e T . ‘ .
Carl has a stack of wood with the measurements shown below. He will cover the top

and all 4 sides of the stack with a plastic sheet.

Part A What is the total surface area the plastic sheet must cover? In the space below, show
your work and write your answer on the line.

square feet

The diagram below represents a plastic sheet with unknown measurements.

Plastic
Sheet

Width
2 feet

}————Length ———l_

3 pt Anchor / Q///@

? feet

o
~—

8M-1002



60

Part B What are the dimensions of the smallest rectangular plastic sheet that can be used

to cover the stack of wood? In the space below, show your work and write your answers on
the lines.

Width L\

Part C  Carl added more logs to his stack of wood, increasing the length of the stack by 2
feet and increasing the height of the stack by 3 feet. By how many square feet did the area of

the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line. :

Increase ‘ CX square feet -

/)2 s

3 pt Anchor | 8M-1002



Carl has a stack of wood with the measurements shown below. He will cover the top
and all 4 sides of the stack with a plastic sheet.

; Length : 4 feet
8 feet

Part A What is the total surface area the plastic sheet must cover? In the space below, show

your work and write your answer on the line.

7 q square feet

The diagram below represents a plastic sheet with unknown measurements.

Plastic Width
- Sheet ? feet
| Length —
? feet

2 pt Bagkup Anchor 8M-1019
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PartB  What are the dimensions of the smallest rectangular plastic sheet that can be used

to cover the stack of wood? In the space below, show your work and write your answers on
the lines.

q..r;
yl o

Width “I L"" Length m

Part C  Carl added more logs to his stack of wood, increasing the length of the stack by 2
feet and increasing the height of the stack by 3 feet. By how many square feet did the area of
the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line.

je.

3

a:j, 2'%3"'
2 ) )
- ' 11

4 AR

Increase S ‘ square feet

2 pts Bagkup Anchor 8M-1019



60

Carl has a stack of wood with the measurements shown below. He will cover the top

and all 4 sides of the stack with g plastic sheet.

i

Part A ‘What is the total surface area the plastic sheet must cover? In the space below, show

your work and write your answer on the line.

y
L :

{7 square feet

The diagram below represents a plastic sheet with unknown measurements.

Plastic Width
Sheert ? feet
f Length -
? feet

'

L AR

oY

8M-1049



60
' Part B ‘What are the dimensions of the smallest rectangular plastic sheet that can be used

to cover the stack of wood? In the space below, show your work and write your answers on
o the lines.

'zo‘d*

w0Y Hw S

&; :

Part C  Carl added more logs to his stack of wood, increasing the length of the stack by 2
feet and increasing the height of the stack by 3 feet. By how many square feet did the area of

the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line.

widh W0 Keed e 90€cek

322

Increase —Gj:vnjquare feet

8M-1049

e




Carl has a stack of wood with the measurements shown below. He will cover the top -
and all 4 sides of the stack with a plastlc sheet.

widih
N i‘.‘ 1
e {Teet

Part A What is the total surface area the plastxc sheet must cover? In the space below, show
your work and write your answer on the line.

3\%

square feet
{ ‘

\

The diagram below represents a plastic sheet with unknown measurements.

Plastic Width
Sheet ? feet
I——-——-— Length——
? feet

0 pt Ancht@ 0/ / W, 8M-1005

s




Part B What are the dimensions of the smallest rectangular plastic sheet that can be used

to cover the stack of wood? In the space below, show your work and write your answers on
the lines. o

- A
v B8\

Part C  Carl added more logs to his stack of wood, increasing the length of the stack by 2

feet and increasing the height of the stack by 3 feet. By how n-i_any square feet did the area of
the top and all four sides of the stack increase? In the space below, show your work and write
your answer on the line. " - '

ncresse VnRAL OGM \L se (o%:‘

OptAnchoi@\ 47[ / A ‘/ SM-1005



2004 CSAP Released Items

Grade 9 Mathematics



Mathematics

7  Paul is interested in buying a new car. The table below shows the prices for the last 8 cars sold
by each of two local car dealers.

Dealer A Dealer B

$16,500 $16,150
$16,450 $16,000
$17,200 $16,400
$16,200 $16,950
$17,400 $17,250
$16,050 $17,250
$17,000 $16,200
$15,850 $16,500

Part A Each dealer claims to have the best prices in town. Show one way that the
information in the table can be used to support each dealer’s claim. In the space below,
show your work. Then write your explanation on the lines on the next page.

Page 20
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Part B Another car dealer, Dealer C, claims that his median price for cars is 5% less than
any other car dealer’s median price. Compared to Dealers A and B, what is the median price

Dealer C will charge for a car? In the space below, show your work and write your answer on
the line.

© Colorado Department of Education Page 21
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CSAP Mathematics Scoring Guide

Item 7:
Rubric
Exemplary Response
Part A

*  Dealer A mean:
($16,500 + $16,450 + $17,200 + $16,200 + $17,400 + $16,050 + $17,000 + $15,850) — $16,581.25
8 B

($16,500 + $16,450)
2

Dealer A median: = $16,475

Dealer B mean:
($16,150 + $16,000 + $16,400 + $16,950 + $17,250 + $17,250 + $16,200 + $16,500) — $16.587.50
8 B

($16,400 + $16,500)

= $16,450
2

Dealer B median:

OR
+  Other valid response
AND
+ Dealer A has a lower mean price.
OR
+ Dealer A has the lowest price.
AND

+  Dealer B has a lower median price.

Page 22 © Colorado Department of Education
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CSAP Mathematics Scoring Guide

Part B

+  $15,627.50

AND

+  $16,450 X 0.05 = $822.50

AND

+  $16,450 — $822.50 = $15,627.50
OR

+  $16,450 X 0.95 = $15,627.50
OR

+  Other valid process

Score Points: Apply 3-point holistic rubric.
This item appeared at only one grade level.

Grade 9
Standard 3.2c: Data Analysis, Probability, and Statistics
Subcontent Area: not classified
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Feh=03-04 02:27Tpm  From=CTB MCGRAW HILL

3172080201

T-882 P.06/32 F-208

Gm- 530/
Paul 1 interesied in buying a new car. The table below shows the prices for the last 8 cars scld -
by cach of two Jocal car dealers.
i
5 5
o | _$184507| $16,000
_;Jf 517,200 | $16.400 ¢/
LA 516200 | $16,950
AT 5174007 | $17,250
K] _®is0sor | $17,250
& n 7,000/ | 516,200 |
"~ $15,850~ | §16,500
Pars A Each dealer claims 10 have the best prices in Town. Show one way that The
' information in the Table cun be nsed 1 suppert wach dealership’s claim. In the space below,
show your wark. Then write your explanation on the lines.
Danler A TS
\SAEPG ] V32700
Mamns }éﬁ{ 7‘2 Meon =z 65875
medien- &, Aefian= 16450
Im -os%(




Feb-03-04 02:27pm

From=CTE MCGRAW HILL

3172050201 T-g82

Part B Another cor dealer, Deaker C, cluims that his median price for cars is 5% less than

any other car desler's medmn price Compared 10 Daslers A and B, what is the median price

Dealer € wil] charge for « car? In the space bedow, show your wark and Write your aaswer on

the line.
Rewimr A
% " 450 E X
loar=§AIS O o Wew -
Xz ERS gy =53
s - Ba%iS
ee 156275 lp‘l?i&a;.w
15651 -45
s 1S¢39. 3&

v

aIm- oo l.a-

P.07T/32 F-203
6 m 5}0 ler



Feb-03-04 02:27Tpm  From-CTE MCGRAW HILL 3172050201 T-882 P.08/32 F-203

9m-53072-

Paut 15 injerested in buying a new car. The table below shows the prices for the kit 8 cars sold
by vach of two jocal car dealer-

L $16500 |, $16,150
516430 o $16,000
L s17,200 { s16400
L $16200 [ .$16,950
| $17,400 $17.250
L $16,050 $17.250
| 517,000 |, $16.200
. $15850 $16,500

Parr A Each dedder claims %o have the best prices in pown. Show one way that the
informanon 1 the table cun be used 10 support each dealership’s caim. In the space below,
" show your wark. Then write your explanation on the lines.

LIy RTARTEN
(MSO? U,
11,2002 LEAOO

| y2end {ip,AS0
7400 17,250\
I, CED £ 17,250
17,000 He,
16,280 [,

Im- o004

A it Pnchor



Feb-03-04 0Z:27pm  From-CTE MCGRAW HILL

3172080201

T-882 P.08/32 F-203

G- S30%a

Parmi B Another car dealer, Dealer C, clagms that his median price for cars 15 5% Joss Than
any other car dealer's median price. Compared 10 Dealers A and B, what is the medin price
Dealer C will charge for a car? [n the space below, show your work and write your answer on

the hne.

A= 1S REr o SB03 Hn

s_tﬁ..iﬁz_'l.v.ﬂ}—

B- u,‘pﬂb' Vo 1 505 qu

Qo400 Ve 720

TG aTe)

Vi, 45D
5% Yo el
o s
B22.S
ViaRT e
- oent.S

\Lb.m, e Soop A0 (7], 2k VoAD
10,9\ 525 VTSRS AT,

gm-oo04L e



Feb-03-04 02:27pm  From-CTB MCGRAW HILL 3172080201 T-882 P.10/32 F-203

IMm-5s 303

Faul is inverested n buying a new car. The table below shows the prices for the last 8 cars sold
by ach of Twa local car deslers '

o Peller Al Dl
$16500 | $16,150
$16450 | $16,000
$17.200 | $16,400

03@5) $16200 516,950 N 6‘-’\60

NeRY 517,400 %17,250 '

$16,050 %¥17,250

$17,000 | $16,200
$15850 | $16,500

Part A Each dealer claims 1o have the best prices it TOWR Show one way that the
wfermation 1 the 1able can be used 10 support each dealership’s clim. In the space below,
show yeur work. Then write your explanation on the lines

YOG ok xadeé :
Oeare( f-MD) OO @eme: P="15,450
Avauoy of diftesence #6350

M_\cﬂﬂgr_ef_cemm_uf__
A. Tm

&
COTNPAREE. Yoe KD ONA BId Ao,

0 al Y omped Yo 3 o O
ey, Ny YA -: 1 ‘12 (15 Mur_\’\ QSA

Im- 0043
1 ;ﬂf %a/éar
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Feh=03-04 02:27pm  From-CTB MCGRAW HILL 3172050201 T-882 P.11/32 F-208

Im-8o34

Part B Another car dealer, Dealer C, claims that s median price for cars is 5% has thas
any other far deater’s median price. Compared 10 Dealers A and B, what is the median price
Dealer C will charge for a car? In e space below, shaw your work and write your unswer on

the line.

A GRge 34300 #3= 1,100

: ‘512‘35'6' '3, 00X 05 = 859
33 cac:?&:\(o:zw 16,800 X 086 = BHO
X e i (+12

log00 3360

s 8B4%.5

Tm—0043 4.



Feb=03-04 02:28pm  From=CTE MCGRAW HILL 3172080201 T-882 P.12/32 F-203

dm- sz 6

Paul s mterested in buying @ new car. The Table below shows the prices for the kst 8 cars sald
by euch of two local car dealers

516,1‘50
$16,000
$16,400
£16,950
~200 | 517400 $17,250
13| slses0 $17,250
450 [ 517,000 | si6200
nae | $153s0 $16,500

Pars A Each dealer clims 1o have the best prices in own. Show one way tharthe
information w the Table can be used 1o support each dealersiiip’s claim. [n the spuce below,
show your work. Then write yonr explanation on the hnes.

| dfferexe = 360

Mm-oot4 -
0 /DZ’ /guc;éﬂ‘



Feb-03-04 02:28pm  From-CTE MCGRAW HILL 3172050201 T-882 P.13/32 F-203

Pars B Ancther ar dealer, Dealer G, claims that his median price for cars is 5% leas than
any other car dealer's median price. Compared 16 Dealers A and B, what is the median price
Dealer C will charge for a car? In the space below, show your work and wite your answer on
the line

dn- oo¥4a



2004 CSAP Released Items

Grade 10 Mathematics



Mathematics

8 g : Use your punch-out tools to help you solve this problem.

Study Triangle G and Triangle H below.

Are the triangles similar? Write your answer on the line.

In the space below, explain whether or not the triangles are similar. Use measurements to
justify your answer and label the triangles with the measurements you used.

Page 24
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CSAP Mathematics Scoring Guide

Item 8:

Rubric

Exemplary Response
* Are the triangles similar? Yes

AND

* I measured the angles of both triangles. The angle measures in each triangle are the same, so the
triangles are similar.

AND

OR

* I measured the lengths of each of the sides of both triangles. Each side of Triangle H was 1.5 times the
length of the corresponding side of Triangle G, so the triangles are similar.

Page 25
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CSAP Mathematics Scoring Guide

AND
78mm
43mm
G
&3mm
64mm
55mm H
MN7mm
OR

¢ Other valid response based on accepted similarity proofs (AA, SSS, ASA, SAS) with corresponding labels
on the triangles

Score Points: Apply 2-point holistic rubric.
This item appeared at only one grade level.

Grade 10
Standard 4.3a: Geometry and Spatial Sense
Subcontent Area: not classified
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@ Use your punch-out tools to help you solve this problem.

Study Triangle G and Triangle H below.

3%°

Are the triangles similar? Write your answer on the line. ——xeé“

In the space below, exphin whether or not the triangles are similar. Use measurements to
justify your answer and label the triangles with the measurements you used.

AGC ~ swler 1o AU Leamose Uf-al—w.u.“c. Lesmn
b nressore s compard to eocl oMer Qé Ak .

P U3~

(G2 S

10M-5608

IO

\!



@ Use your punch-out tools to help you solve this problem.

Study Triangle G and Triangle H below.

Are the triangles similar? Write your answer on the line. J“fﬂf

In the space below, explain whether or not the triangles are similar. Use measurements to
justify your answer and label the triangles with the measurements you used.

T‘e h;ah7[(: dre ,,‘m;la,, lg({auje H\c,, anj’(S lﬂa\/(
the Same meafurements.

A 10M-5626

)Y



g Use your punch-out tools to help you solve this problem.

Study Triangle G and Triangle H below.

Are the triangles similar? Write your answer on the line. [\) Q)

In the space below, explain whether or not the triangles are similar. Use measurements to
justify your answer and label the triangles with the measurements you used.

TeeoNe W= \Qem
T‘(\{,\(\CQ\QG: (oo
Tanae =t og W

SING

10M-5664



2004 CSAP Released Items

Grade 10 Mathematics



Mathematics

9  Each figure in the pattern below is made from equilateral triangles with sides that are 1 unit

in length.
Figure 4
Figure 3
Figure 2
Figure 1
A A JAVAVAVAVAVAVAVA

Part A Complete the table below to show the perimeter and area of each figure.

Figure Perimeter Area
1

1 3 Z\/g

2 6 3

3 12 443
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Part B On the lines below, describe the pattern of change in the perimeters of the figures.

Part C The outline of Figure 12 is shown below. Label the lengths of each side on the
lines provided.

Figure 12

Drawing not to scale

Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.

Perimeter Area

Part E  On the lines below, explain how you found the area of Figure 12.
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CSAP Mathematics Scoring Guide

Item 9:
Rubric
Exemplary Response
Part A
Figure Perimeter Area
1
1 3 Z 3
2 6 V3
3 12 43
4 24 163
5 48 643
6 96 2563
7 192 10243
Part B

+  The difference between each perimeter is the same as the previous perimeter. This pattern causes the
perimeter of every figure to double.

OR

+  Other valid explanation

Page 29
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CSAP Mathematics Scoring Guide

Part C

Figure 12

2,045

Part D

e Perimeter 6,144 Area 1,048,576\/5
Part E

+ The areas of the triangles increase by a factor of 4 each time. To get the area of the next triangle, I just
multiplied the previous triangle’s area times 4. Since the area of Figure 7 was 1,024V3, I just multiplied
that by 4 five times.

OR

+  Other valid explanations

Score Points: Apply 4-point holistic rubric.
This item appeared at only one grade level.

Grade 10
Standard 2.2a: Patterns, Functions, and Algebra
Subcontent Area: not classified
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:  Each figure in the pattern below is made from equilateral triangles with sides that are 1 unit
*  in length.

Part A Complete the table below to show the perimeter and area of each figure.

Fig'ufe Perimeter Area ‘(/%
- nery

1 3 |1 1 2
\q 2

2 6 V3 -

2

3 12 43 “5
oy

4 au i3 | 2z
4

5 ut U3 |2 52y
p av | 2563 |pEEe
d g

u 4

7 1649 [oud3 i

Part B On thelines below, describe the pattern of change in the perimeters of the figures.

e cecimelec of o fionces  douiie Scom

A're N h o\ o

A-4 10M-5201

A\



Part C  The outline of Figure 12 is shown below. Label the lengths of each side on the

lines provided. 1e) %(35‘ 593 73
‘192 2

T Figure 12 WLy
DNTIY e 4

\O4®B 5" 6
Q}W‘b} , N

‘Qﬁﬁg
‘o1 &
DY A

AGT oy _J0UX _PoUY
(18
Fuu
<0

o
1
L2
..—9-‘u

0 ‘v\% I Drawing not to scale l

Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.

Perimeter __ 2\ Area \OUSEMLVZ

Part E On the lines below, explain how you found the area of Figure 12.

T usy heoh w\%‘@\&'\t\g‘ \72. Y.

A-4a o ~ 10M-5201a



in length.

Figure 2

Figure 1
A A

Figure 3

Each figure in the pattern below is made from equilateral triangles with sides that are 1 unit

o
\%‘ Figure Perimeter Area
% W W
N “?;Z“ 1 3 g
\V @ Mo 2 6 Ny
N Aé 3 12 43
&G ©
%; 4 24 ved3
6 ‘% 5 Ye¢ s
%}; 6 he | tmA3
kS : Nz | e

10M-5211

ﬁi\\



Part C  The outline of Figure 12 is shown below. Label the lengths of each side on the
lines provided.

Figure 12

AB8 1 umbs | Drawing not to scale

Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.

Perimeter W Area ¥05ﬂ|(9~

Part E  On the lines below, explain how you found the area of Figure 12.

03 T vpef

ﬁ@ﬁbgb;; b«“'-

A-3a o - 10M-5211a



Each figure in the pattern below is made from equilateral triangles with sides that are 1 unit
in length.

1ay o
Figure Perimeter Area 2 \ L,
1 - e
1 3 zﬁ q i \O’L
e y”
2 6 J3 \ ..L "
\0 Tal
g 6%

3 12 43 % A
4 (A 20‘ \z,’ n
™

“h s Wg | 4
a 6 16 | % R
7 \A2 | 1w 3y

Part B On the lines below, describe the pattern of change in the perimeters of the figures.

H\_P._ &zm:\efs o‘% *‘\nz Q.qwes are Mux\‘np\g_g,

meker

10M-5232

%l\w



Part C The outline of Figure 12 is shown below. Label the lengths of each side on the
lines provided.

Figure 12

lo "\g Drawing not to scale

Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.

AL

Part E On the lines beX, explain how you found the area of Figure 12.
\
\Y
T dda

Vo €xh, lowyx204Q

T O W04

Perimeter Area

10M-5232a



¢ Each figure in the pattern below is made from equilateral triangles with sides that are 1 unit
in length.

Figure 3
Figure2

Figure 1
A A

Part A Complete the table below to show the perimeter and area of each figure.

- Figure Perimeter |  Area
o 1
\\ \ 1 3 IB
2 6 ¥3
AV
3 12 43

+ | A | T

BN
X |l | T
<3 s a |10 E

¢

& A B R KA Ne]

Part B On the lines below, describe the pattern of change in the perimeters of the figures.

“Tee. e der of «MOH}K? s
gl \ J

A-1 10M-5256

®

14



Part C 'The outline of Figure 12 is shown below. Label the lengths of each side on the
lines provided.

Figure 12
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Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.

Perimeter \CXZ— Area __\_ch(

Part E  On the lines below, explain how you found the area of Figure 12.
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% in length.

Figure 3
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Part A Complete the table below to show the perimeter and area of each figure.

INONONONINS
\ANNNNNN

Figure * Perimeter Area
1 3 15
2 6 V3
3 12 43
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Part B On the lines below, describe the pattern of change in the perimeters of the figures.
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Part C  The outline of Figure 12 is shown below. Label the lengths of each side on the
lines provided.

Figure 12
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Part D Find the perimeter and area of Figure 12. On the lines below, write your answers.
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Part E  On the lines below, explain how you found the area of Figure 12.
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